Seccion 8.6
Ejercicio 12

Rosen 5ta edicion

Catedra: Teoria de la
Computacién - FICH/UNL



Condicion
inicial

S=g



Paso 1

(01')0

S={Bo}



Paso 2

(01')0

S={Bo,NY}



Paso 3

(01')0

_
LA 5

T

(10,Ch),

S={Bo,NY,Ch}



Paso 4

(01')0

_
LA 5

T

(10,Ch),
TSR 5={Bo,NY,Ch,SF}




Paso 5

(01')0

5]
=

(10,Ch),

Ires, oo
™ S={Bo,NY,Ch,SF,Da}



Paso 6

(01')0

5]
=

(10,Ch),

ITSR,  g={Bo.NY.Ch,SF.Da.De
m { ’ ’ ) ’ ’ }



Paso 7

(01')0

5]
=

(10,Ch),

ITSR,  g={Bo.NY,Ch,SF.Da,De LA
m { ’ ) ’ ) ' ’ }



(01')0

(LA 5] Peso del camino de
T, ity peso minimo: 10
(10,Ch), (8,NY),

ITSR,  g={Bo.NY,Ch,SF.Da,De LA
m { ’ ) ’ ) ' ’ }



(01')0

(LA 5] Camino de peso
T, Gl minimo: Bo—Ch - LA
(10,Ch), (8,NY),

ITSR,  g={Bo.NY,Ch,SF.Da,De LA
m { ’ ) ’ ) ' ’ }
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